Electrician Theory - 1st Year NIMI Question
Module:13 Transformer (SIEHIER)

Q1. Which type of transformer is used for high frequency application? | 3—nr34Taf?-r
3TN & foIT foh e 9 & TR &7 39T fohdT ST 82

(A~)3 Ring core transformer | ReT ®X grA®ER

(B) Ferrite core transformer | ISE &I TTHHFT

(C) Silicon steel core transformer | TafereisT TES PR TTABE
(D) Grain oriented core transformer | ¥aT 3=HW PR AR

Answer:B,

Q2. What is the relationship between primary voltage (E1, V1) and secondary voltage
(E2, V2) in a ideal transformer? | Teh 37ceT SRA%ER H WrAfA® diecs (E1, V1) 3R
AreafAs dieest E2, V2) F I Fa1 Ge4 §?
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(A) E1= V1 and E2 = V2
(B) E1> V1 and E2 > V2
(C)E1<V1and E2 <V2

(D)E1=V2and E2 = V1
Answer:A,

Q3. What is the function of conservator in transformer? | EHRR H FHoRde T HA
FATE?

(A) Prevents the moisture entry | 7Y & Ja2r ' AshelT &

(B) Transfers the heat to atmosphere | ql<4+|5c>1 H AT FI TATART HAT &

(C) Allows to release internal pressure | 3R eara OIS I AT ST &

(D) Allows expansion of oil level due to load variation | oS TReeTall 3 RO el T & FAEAR
T Al ST @

Answer:D,

Q4. Which loss of transformer is determined by short circuit test? | ¢ dfdhe T&e garT
TAHER & e gifer T fTeRor fhar Srar g2

(A) Copper loss | Tt gifer

(B) Windage loss | a3 gifal

(C) Hysteresis loss | ReRdw et

(D) Eddy current loss | $axX &IRT gifal

Answer:A,
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Q5. Calculate the voltage regulation in percentage of the transformer if the no load
voltage is 240 volt and full load voltage is 220 volt? || TEHRR & alecl & Tfaerd
fafersrst i 1ot &Y, afe e TR et 240 atee § 3R qoT $1R dledst 220 dloc 872
(A)7.2%

(B) 8.3 %

(C) 8.711%

(D) 9.09%

Answer:D,

Q6. What is the purpose of using laminated core in transformer? | ZIHBFR H ¢ohs Tohs
H P T 3TANT el T 366 FAT 72

(A) Reduce copper loss | T gTfaT T & HY

(B) Reduce hysteresis loss | REcRETT g1fer & s Y

(C) Reduce mechanical loss | i3 &7t & e &Y

(D) Reduce eddy current loss | #a¥ YRT &Il I e el

Answer:D,
Q7. What is the cooling method of transformer? | ZEHER Fr 2ot AT FaT &2
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(A) Oil natural cooling | def HTehfcieh 33T

(B) Qil natural air forced cooling | A Tehfdeh gaT Sfeid ST FTl
(C) Oil forced air forced cooling | del Sfetd gaT Sfold S3T &
(D) Oil natural water forced cooling | el YTehfcieh dTeit SfereT 38T
AnswerA,

Q7. What is the condition for obtaining maximum efficiency from transformer? |
TIEPERT O 31 dH &Tdr I &l & ToIT T A §72

A) Copper loss > Iron loss | dT3 g1fe> dilg gTfer

B) Copper loss < Iron loss | a1 gTfa< @ilg gifer

C) Copper loss = Iron loss | a1 g1fai= @ilg gTfer

D) Copper loss =Eddy current loss | a1 g1fel = HaX &RT g1fat

Answer:C,
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Q8. What is the function of top float switch of buchholz relay in transformer? |
BN & g@lest Rt & MY eile [ &1 Ry &1 52

(A) Activate in moisture presence | 575 ft 3ufEufa & afpa X

(B) Activate at overloading condition | 31fa#TR & RRufa & Ifspa &

(C) Activate at open circuit condition | Gel Hiche T Fufd & afsha l

(D) Activate at high temperature condition | 3=a argaTT & feufa & afrg &
Answer:B,
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Q9. Why the core of current transformer is having low reactance and low core losses?
| TTHTA STHHER T HR FA gfaard 3R w7 PR g1fey Fai FT @/ E2

(A) To minimise the burden | STST T HH A & ToIT

(B) To maintain constant output | fRaR A3t 91T @+t & fow

(C) To prevent high static shield | 3T 2T aTeT &l JAhet & ToIT

(D) To minimise the error in reading | &= H e T A FIA & foIw

Answer:D,

Q10. How the error in reading of a potential transformer can be reduced? | [a%1a
CIHBIFAR Y Goel H T T hdl e TohaT ST Hevell 82

(A) Using thin laminated core | 9efold @R T 31T el

(B) Providing long magnetic path | ofeT Fehla T FeTel el

(C

(

) Using high flux density material | 30 JdTg Gcicd AT Tl 3TN T
D) Providing good quality core material | 36T I[OTarT dTell Ik ATHIT FeTal el
Answer:D,

Q11. Why the load is disconnected before the OFF load tap changing operation? | 3iT%
o3 T Seolel & AU H Ugol IS &1 e fGar SIar g?

(A) To disconnect the tappings from neutral point | 3&leT fig & fHaT @I faaANTSIT et &
forT

(B) To disconnect the moving contact of the diverter | STITEX & Telcl T T I faGA oI
e & faw 1

(C) To avoid heavy sparking at the contact points | Fd<h fSig3it oX sTRY F1fhaT & So7=t & forw
(D) To provide an electrical isolation for the windings | aTSfSeT & foIT U faegd 3rerama were
Hel o Tl

Answer:C,

Q12. What is the name of the part in power transformer? | 9ra¥ SIAHFR 7 AT T ATH
FATE?

(A) Breather | §eX

(B) Tap charger | 9 TR

(C) Explosion vent | HTeRT d€
D) Buchholz relay | §@itest Rer

(
Answer:D

Q13. Which condition is absolutely essential for parallel operation of two

transformers? | & SABIFR & HATATR HaTelel & foIT iet T FATY oot 3maeae §2
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(A) Nature of load | #T% &I Sehfcy
(B) Type of cooling | 2idelsT YehX

(C) Phase sequence | &hell 3isishH
(D) Class of insulation used | SEHTel FralTereh T Aofr
Answer:C

Q14. Which construction technique is used to reduce copper loss in larger
transformers? | 95 CHBIER & s & SJhATT Bl HH Hlel o (AT g AT Feheileh T
39T foRaT ST 82

(A) Use of laminated core | 9efold SR &7 39197 .

(B) By reducing core thickness | R HIETS I e Flh

(C) By using grain oriented core | IdT 3=H& PR T 3T Hlh

(D) Use stepped core arrangement | TTE PR ST SEAHAT Y

Answer:D

Q15. What is the name of transformer? | SrABRR ST ATH FT &2

(A) Air core transformer | arg PR TAHER

(B) Iron core transformer | HWWWW
(C) Ring core transformer | R3T R S AHER

(D) Ferrite core transformer | IS¢ HR TTHHTHT

Answer:A,

Q16. Which transformer is used to measure high voltage installations? | 3Td dlecal
gfasaaT & AT & fAT fhg S a®RR T 393 fhar Srdar 82

(A) Pulse transformers | 9o& SAHTHT

(B) Ignition transformers | 33121 TrAHER

(C) Potential transformers | fJ@31a grE®RR

(D) Constant voltage transformers | f@ad aieest SABER

Answer:C,

Q17. How does the moisture is controlled in breather fitted on power transformers? |
gTa ST UT ofd) 8T e & Y &1 F g forar srar §2

(A) Using silica gel | FaToreT Stel T 39T &hdatT

(B) Using transformer oil | SFAHTHAR & el 3T 3TI1T e

(C) Using sodium chloride | GIfST# F@RTSS ST 3TN HIAT

(D) Using ammonium jelly | 3/8faaa STelT T 393197 e

answer:D,
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Q18. Which power loss is assessed by open-circuit test on transformer? | ZEHRFR W
3aa-afehe graTor garT fhe AfFd g1fel 1 3mehctet fonaT ST 872

(A) Hysteresis loss only | ad geeRaT gifer

(B) Eddy current loss only | Fael $ax &RT g1far

(C) Copper loss | aret gTfer

(D) Core loss | X gTfeT

Answer:D,

Q19. Which is determined by the crackle test of transformer 0il? | TEFRER & dd &
shehol ce A forgerT AYOT 81T &2

(A) Acidity | 3TFeTdar

(B) Moisture | sTHT

(C) Viscosity | ITeTdr

(D) Dielectric strength | TRTfaET Qe

Answer:B,

Q20. Which material is used to make core of power transformer? | 91a{ TMAHIA FT PR
FeATet & TorT forar ATHET ST 39T fohaT ST 52

(A) Soft iron | 5T &ligT

(B) Rolled steel | o8 Terer

(C) Copper alloy | dleT AT &g

(D) Cold rolled grain oriented | Fies Ues I 3NMRTT

Answer:D,

Q21. What is the name of transformer? | TIEHTHR T T FAT &2

(A) Auto transformer | 3iTel TEHER

(B) Core type transformer | X YehR T STHBIHT

(C) Shell type transformer | 2reT YehX T TRAHEFR

(D) Audio frequency transformer | 3{if3aT 3mgfer TR

Answer:B,

Q22. What is the purpose of providing explosion vent in a power transformer? | 91a{
CEHIAT # fIEPRIT 3¢ YETeT el &l 36520 FAT8?

A) Air releasing | gaT BIgT

B) Heat releasing | AT ST

C) Pressure releasing | GaTd BIgeT

(
(
(
(D) Moisture releasing | sTHT BT
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Answer:B,

Q23. What is the function of buchholz relay in power transformer? | fSsely giE®ER &
S@leol Rel &l 1 #2182

(A) Protection from high temperature | 3T mﬁm«‘m

(B) Protection from moisture entering in oil | W#WTWWM@W&T

(C) Protection from pressure loading in tank | ¢ & gaTa SIfSaT & FRa&t

(D) Protection from both overloading and short circuit | 3R 3k TEIYT AT H FR&T
Answer:D,

Q24. Why primary of potential transformer is wound with thin wire and large number
of turns? | 3 fas1a TAHA T TYTHS Yol AR AR T3 TEAT H GATGT o Ty Fsfod
forar STar &2

(A) To offer high inductance | 3T 9RUT &f & foIT

(B) To obtain required voltage ratio | 3TTa2Teh Alecol 3TdTd YT el & Tl

(C) To regulate the primary current | ST GRT HI Rferafaa s & fae

(D) To stabilise input and output voltage | $19¢ 3R 3M3eYeE dlecst HT [FW A= & T
AnswerA,

Q25. Why distribution transformers are normally connected as primary in delta and
secondary in star? | faaRUT RAHER AT T & Secl H TAfHs 3R TR F gfadas &
w9 H FIT I3 §TE?

(A) To avoid overloading | FFIHRTT & gt & farw

(B) To maintain constant voltage | fRaR dliec st ST IW & folT

(C) To reduce transformer losses | EFAHIAR & ehdTel I HH el & ToIT

(D) To easy distribution of 3 phase 4 wire system | 3 &Il 4 AR YUTTell & AT AR 0T & folT
Answer:D,

Q26. Which type of emf is induced in an ideal two winding transformer? | 3gel ar
aIST3eT TAHER H fhd 9K &1 STATE IR ldr g2

(A) Self induced emf | TaI IR STATH

(B) Mutually induced emf | 3/=dl=g IR STATH

(C) Statically induced emf | f&2R IR STATH

(D) Dynamically induced emf | arfaefier 7 & aRa STaATH

Answer:B,

Q27. How to determine copper loss in a transformer? | Teh ZEABIER H AT & Tehdlel T
fryRoT Fa w32

(A) Ratio test | 31eTaTd gdraToT

(B) Impulse test | 3331 T&oT

(C) Short circuit test | oTg IRYY e

(D) Open circuit test | Gell TRYY TEE

Answer:C,

Q28. Why ferrite core is used in radio receivers? | ¥18¢ HR HI 39T I3AT RATaw
T fomar SITaT §2

(A) To reduce the constant losses | T3Td gIfer FI e I o oI

(B) To reduce electric interference | faegd a0 T e F:Xel & faT
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(C) To increase the quality of sound | &dfeY &I I[UTaT Tglet o forw
(D) To increase the efficiency of receivers | RETaT Fr g&Tdr dglel & o
AnswerA,

Q29. What is the advantage of stepped core arrangement in larger transformers? | 53
SRR & TRUTSCY R cTGEUT HT FT BIICT §7?

A) Minimizes copper use | dTs & 3UAN3T &Y 3 FHIAT &

B) Reduces hysteresis loss | REcRaT gifad A I AT &

C) Reduces eddy current loss | $7a3 YRT gTfeT &l & STl

D) Reduces the space for core | ® & [olT 31918 & X ol &

Answer:A

(
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Q30. Which material is used in breather to prevent moisture entering in the
transformer 0il? | TAHEFAR del H AT T Udhed o ToIT S H v TTHAT HT 3TJET FhAT SITAT
g2

(A) Silica gel | Taferepr St

(B) Sodium chloride | GIf3T# Feik1Ss

(C) Ammonium chloride | 37ATHTH FARSS

(D) Charcoal and salt mixture | TRl R TH® T FHOT

Answer:A,

Q31. What is the disadvantage of auto transformer? | 3ffeT SIHBIER T hATT T &2
(A) More losses | 31T grierar

(B) Heavier in weight | @stel & RY

(C) Poor voltage regulation | @Xe dtecst fafaga et

(D) Cannot isolate the secondary winding | &faciIares TSfSaT &l 37cT9T A& T Hehdl
Answer:D,

Q32. Which cooling method is used in pole mounting distribution transformer? | il
AT faaRoT graweR 7 fha efraers fafer s 3uieT fohar Sirar §2

(A) Air natural | aTg GTehfch

(B) Qil natural air blast | el YTehfdish arg faTwie

(C) Oil forced air forced | def sfeld gar sfeld

(D) Oil natural air natural | &eT WTehfcieh &aT Tehideh

Answer:D,

Q33. What is the composition of steel and silicon steel in transformer core? | SHHEHY
PR 7 Tt 3R Aforeria TE&a $ =T Far 82

(A) Steel 97% and silicon 3% | Tl 97% 3 fAfHIaT 3%

(B) Steel 95% and silicon 5% | T 95% 3R fAfasia 5%

(C) Steel 93% and silicon 7% | TreT 93% 3R RAferist 7%

(D) Steel 90% and silicon 10% | T 90% 31} fAferhisT 10%

Answer:D,

Q34. What is the purpose of tap changing in power transformers? | fSsely gia®ER &
& ITSI9T T 36T FAT 52
(A) Change voltage ratio in distribution | fdcRUT # alecsT 3e]dTd Se
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(B) Change voltage ratio in distribution | f&cRoT & ateca 37T dcel
(C) Maintain secondary voltage constant | &faciiae dlecs] oo ST T
(D) Load the transformer for maximum efficiency | 31f&Iercs g&TaT & foIT TEHEEFR ais Y

answer:B,
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